UNIT 6: IRRATIONAL MATH -......
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/"\‘ B o »’33,9{3?:31 Theorem to find the length of a hypotenuse.
gsing the Pythagorean Theorem to Find the Length of the Hypotenuse
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In a nght tnangle, the square of the hypotenuse is equal to the sum of the squares of the
other two sides.
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We will use this theorem to find the missing side length of a right triangle.
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State all lengths as square roots, then approximate to the nearest hundredth. If? fia diagram is not. provid
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4) Aboat starts at dock and travels 100 km  [Draw diagram here.] Cz' = Gz + bz‘
east and then 70 km south. How faris 2
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State all lengths as square roots, then approximate t
must draw one.

o the nearest hundredth. If a diagram is not provided, y

@ Find tha length of the hypotenuse of each right triangle.
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@ A restangle is 6., - A lelevision screen may be deseribed  [Draw diagram here. ] ﬂ
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